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I Semester B.Com. 3 Degree Examination, March - 2022
KANNADA (Basic)
A&, XoT-1
" (Repeater)(Old)

Time : 3 Hours 3 Maximum Marks : 80 _
Instructions to Candidates:

2R F0J) WIBT Ebf;aﬁ N8 ZRBERRITYT.

1) 2emREd, DAIB Sed 6T mIRYS, 1603w kg, aoro. - (15)

| (o)
SSRRD wHS BH008 WS DesaDRy, DIHORD.
2) . CoERG GRRRARY W, R0, ROS - Pudy B0 020, (15)
| C (egm)
, T¥RE0 HBERE SUWE BOTT WTS), E0AD.
3) s Tl UBE Wi, - Qo

a) T.00. Weod,
b) .BIT Bemookd
¢) Bu&e0 ITT
d) SEoGS
e) 8Iwo Soowey,
f) . oedew @%&‘;
) Oemd wod Rooyroems Fysord. | (15)
a)  “umhd ORI Geaoahds D drew” |

b)  “aomoselomd SRR’
| c) “ﬁadg FOVTIIRTY Deade wQYss 77 |

d) “Gers_,‘a&ram. Fmody woze Fedae”

e) “'Faly WHOBO [N B, BT [y BN0LS eorron”
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5) wodde BT, ev3oaD. ‘ o - (15x1=15)
L) ATOES s0sd mE CREm ? |
b) ToePs LsEWRD BRJYDD. ? /
) ey Fod 38R NS BBy B3RO0 2
d) 2303, 803 winWoodD ?
e) o333 Bexoodd Fe odnPyad 2
f) wre3 BerReoT Torer BIBe 2
g) 'zsa. 3. Boege ST BFIP IR ?
h)  w.N. oDREDHET Jord-zvcony IR ?
D coms abach 98 CRFYTEOOT ooiRoRE ?
) Bosom 60 aFRY SRR 2
k) oBEZDIRS SeDIT SedTTH 3R 2
) B DBSEET =FZY CRFR 2
m) T PUTTST BHAE odnYed ?
- m) 0TRORS KLY RO ?
0) eadd Jenedow, oI JTBREFTT ?
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I Semester B.Com. (CBCS) Degree Examination, March - 2022
' ENGLISH (Basic)

(Repeaters)
Time : 3 Hours | ., ~ Maximum Marks : 80
Text: English Stars '
- L Answer the following questions in a word, a phrase or a sentence each . - (10x1=10)
1) Name the Poet of the Poem “Unknowr_l Citizen”
2)  Where had the Scorption Crawled beneath?
| 3)  What fellowship was awarded to Ritésh?'
4)  Atwhat point did the roads diverge?
~'5)  What does OYO mean?
6) Whendid Todd borrow dollar from the narrator?
7) Expand2BNF.
8) " What does the Poet call a ‘Sordid boon’ in the Poem the world is too much with us.
9) Whatis atrue bore uﬂconscious about?

10) What does the “Unknown Citizen’s’ health card show?

IL  Annotate any Two of the following selecting one from prose and one from poetry.(2x5=10)

1)
2)
N
4)

I Should never pay it, on this side of the grane.
Only one Cow of Indian breed is needed for 30 acres of land. -
I toot the one less travelled by.

May the Poison Purify your flesh.
| [P.T.O.
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IL -1) Writeabriefnote onE.V.LucasviewsonBores. . " D (10)
| . (OR) EPE
2) Explain Ritesh’s Journey from Oravel to OYO. _
IV. 1) Writea note on WordsWorth as a ‘tireless Worshipper of nature. | (10)
e ~ ©R . | |
2)  Give an account of the Life history of the ‘Unknown Citizen®.
V. Wrife short note on any Two of the following. . - - (2%x5=10)
1. Advantages of ZBNF |
2. MajorTodd
3. Theme of the Poem “The Road Not Taken”.
4.  Ezekkiel’s father.
VL A Use the following Word in sentences as directed. | , - (5%x1=5)
1. Fastasadverb .
2. Houseasnoun
3. Stitchas Verb
4. Happy as adjective.
5. " Like asVerb. v .
B. Fill in the blank with suitable articles | - (5%1=5)
1. Heis _ MP ' ‘
2. Heis wgrking as____ lecturer.
3. .She found _ egginthe gérage.
4.  Whichis____largestriver in India?
5. Harireads __ Bhagawadgeeta everyday. _
C.  Fillin the blanks with suitable prepositions ' (5x1=5)

1. Sheisangry me.

The war broke with Russia.

(R —

Willyoumeetme ___Sunday?

2
3. Hecame 10 ‘0’ clock sharp.
4
5

She came the morning.
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VIL A Fillinthe blanks with appropriate affixes L | . (5%1=5)
1. TheCaris very___(expense) 3 o |
2. - Thereis__ ____(just) for his every act;
3. Readthe mstructlons ____ (care).
4. ThefamilyLived ___ (happy) there affer.
5. Hewas (Pumsh) for his mxstake
B. Fill in the blanks with suitable forms of to be, to have and to do (5;< 1=S)
1. Mymeans __ (to be) limited.
2 .He__(have) Sold his bicycle.
3. Always_____(do)noble deeds.
4 " (be)watching you very carefully.
5. Theboys | (to be) playing now.

C. Draft a copy of self introduction to present yourself infront of interviewers A
| (1x5=5)
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Reg. No.

I Semester B.Com. 3 Degree Examination, March - 2022
ENGLISH (Basic)

(Regular)

'fime :3 Hours _ | S ' Maximum Marks : 80

Text: English Pearls.

1.  Answer the following questions in aword,a phraise or a sentence as required.(10x1=10)

© 0 NS kW N

[y
e

Name the village wherein Coca-Cola Plant was put.

Who called the Television ¢ The Poisoned Chalice’?

What was the theme of the stpfy ‘ The Death of Government Clerk’?

How all the divisions of nations determined? '

Where were the mother and the son living in the story * The Man of the House’?

“What does ‘beauty” represents in the poem ‘Leisure’?

When did Khandoba strike his wife?

What do you mean by "Adl"llt Peace’?

How was Bombay different from Baroda?
What type of a Poem is “On Killing a Tree’?

II. Explam the reference to the context on TWO of the following choosing ONE each from

Prose and Poetry. : (2x5=10)

1. We need to remember that the real currency of life is llfe itself.

2. The authors are right, Life is so full of surprlse'

3. There is no crop other than God.-

4. Soon afterwards we left Baroda for Bombay, where there are. eno trees except the one
III. a) What are the views on Noam Chomsky on Globalization? | (10)

(OR)
b) Describe briefly how Sullivan at the public house with men sitting there.

[P.T.O.
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Iv.

VII. a

a) Write a critical appreciation on the Poem “Leisure”. - 10)
, : (OR) ,

b) How does the Poet describe the growth of a tree?

Write Short notes on TWO of the following choosing ONE from _Prose and ONE from -

Poetry. : , : : - .(2x5=10)

1. Anton Chekhov’s views on preserving the job is véry important. '

2. Growth measures the conversion of nature into cash.

3.  The customs and rituals that prevail in Jejuri.

4. The Mythological referehce of the Banyan Tree.

A) Fill in the blanks with suitable articles and prepositions. (5x1=5)
1. Giveme ____ book. '
2. ___ apple is tasty.
3. Please close _____ door.
4. Sheisgood ___ dancing.
5. He Writes a pen. ‘

B) - Transform the following sentence as directed. - (5%1=5)
1. Mohan is too old to walk. (Remove too ... to)

- 2. As soon as the thief saw the policeman he ran away. (Use No Sooner...than)

3. How Sweet is the Poem! (Change it in to Assertive)
4. Ifyou tell the truth, I will forgive you. (Use “Unless” in the Place of “If”)
5. - Shiok is the richest man in the town. (Change it into Comparative Degree)

a) Prepare a draft copy of the introduction of the Chief Guest of the Sports inaugural
function of your college. , ‘ (1x5=5)

b) As acultural secretary of your college, draft a copy of note of thanks of Annual Day
Function. o ‘ S - (1x5=5)
Expand any one of the following proverbs into a paragraph. (1x5=5)

i)  Honesty is the best Policy.
ii) Practice makes Perfect.
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d) Kumar Visits to Post office to send a letter. Prepare an unagmary dialogue that
takes between Kumar and Postal Clerk : _ (1 ><5-5)

Kumar :

Postal Clerk = -
Kumar:
Postal Clerk :
Kumar :

Postal Clerk :
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I Semester B.Com. Degree Examination, March - 2022
ECONOMICS
Market Behaviour and Cost Analysis

(Repeaters)

Time : 3 Hours Maximum Marks : 80
Instructions to Candidates: ' '

1) All Sections are compuisory.
DR, DN B@YCITING.

2}  All Sub-Sections should be solved continvously at ome piace.
Y, wa-amﬁﬁqﬁs& AZZazoh 20T 8 wUZDAD.

3) - Draw diagrams wherever necessary.
$TTFE TG, Cesoaed3,ndmy WA,

. SECTION - A
ogRn - & |
Answer any Ten sub-questidns; each question carries 2 marks. (10x2=20)
T BB YOB- BIrert QUIOXD. Fe WT-FFN 2 SOTNW. |
1. a) ' State any two goals of the firm. |
emcsm pilen] od;a CIRWYTIITTR ATTD emzjesrieéw VR0,
b) .What is tactical decision making process ?
2P0, 0008 AEFT FRATNECD £3,0d womtisd ?
c) Define elasticity of demand.
elegBod ASTRETTZE W a5, BRRD..
d) State two exceptions of the law of sunply
- FPFBOD ACRROT QTR ST WNTEY Eewd.
e) What is meant by iocation of firm ?

emcswo =0 oda @eﬁdea NOTITE ?
¢ [P.T.O.
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f) Mention any two investment decisions criteria under Uncertainty.

DYDY, 10T BRI AFPFONY CIRYEED 0B TRITOBNSY,
SQAD0.

g) What is 'Implicit cost' ?
‘OB g B QoTded ?
h) Define the opportunity cost.
RBRT08 [YE 3,35, 3R0.
i)  Calculate the 'average cost' : when
$UNS ©08 B0BH00T RoOR0 S, OY BRED.
Total Production = 60 units
L) 03, = 60 PUEAD
Total cost = Rs.9000
b, =y, = Tdr.9000
j)  Calculate P/V Ratio : If
FINS 08 0ZNP0T oy (P)/ZE0e (V) odmed o8 Fsd.
S = Rs.10 Inoo W3S = de.10
V = Rs.8/unit 2@werds &, de.8/ =8 s
k) Give the meaning of 'Price Discrimination'
WS P0IBT wgF BR&D.
1) What is 'Skimmed Pricing' ?
B3 T’ 23S ed QowTeRd ?
' SECTION - B
4 dPgon - W
Answer any Three question; each question carries 5 marks. (3x5=135)
CRRTREER SR> BINOR wI0RD. B3 BIR 5 wosrith.
2. What are the goals of the firm ? Explain.
VT, HOROD PUFE RS ? IR0,
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3. Exflain the law of supply.”
TP od JoDTTY, DORD.

.. Explain the different sources of capital.

WOBTEE DI QUMY HFORD. |

5. What is 'Break Even Point' (BEP). Calculate BEP from below data.

oo IR, BT, (R0oA3) BOBD 0TI ? imagddaé 208908700 BEP SE=RAE0.
a) Fixed Cost = Rs.80,000
AT 3, = dn.80,000 |
b) Selling Price/Unit = Rs.80
Booow tId Td PuEE = de.80
¢) Variable cost/unit = Rs.40
wBoerDS B$iy/@8 PuEE = Sr.40
6. "Price Discrimination Policy is necessary". Discuss.
“B36 OIH,T e ©FZF" - WIFRO! |
' SECTION - C
, ogen - ¥
Answer any Two question; each question carries 15 marks. (2><15=30)
CRYRETR SOR> BIROR LVZORD. [ BIR 15 wovnsd.
7. Explain the methods of measuring elasticity of demand.
BeBdcDd 33-MTE SIRDID DFITRY DHTOKD.
8. Explain the strategic, tactical and operational decision making process.
| 20087, PB,0I0E I BORFECHD AT FRetnton B8 cbabEy 0D,
9. State and explain the factors in selection of industrial location.
§TR0E FPeE0HT S0 BoBnTREy VA0 Ty DTORD.

10. a) Define the various concepts of costs.
Su3E 20 DOFORMTRY 9, 209,P0.
TC=u%dz§iFC=%da"z§JAFC=ﬁmrdﬁ® 3,

AVC = FmeR0 wooenhs @iy, AC = JooRd &, ¥ MC = eousa 8,

[P.T.O.
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b) Calculate the FC, AFC, VC, AVC, AC and MC from the following data.
PNT 208 ©203NT IFCROT %d e, RoOARO ?%d =1, WBUATD 5, AT
WEOMDR B3, XTI 3%, W Lous mg;wa% SER0. : |
Qutput (in units) 0 1 2 3 4 5 6
o33 (Fendd)
Total cost (in Rs.) | 250 300 | 410 | 460 © 500 560 | 640 |
2td) 323(CR.NTY)
&4 3

SECTION - D
apen - B _

-Case let : (Compulsory Question) ‘ - (1x15=13)
A8 ARAVERY (8O0 T

Read the case-let and answer the questions below.

28 OFSRIBI), Wd AT FIReR «v3020.

@ ) =1 S R et

JAGUAR Car company has registered its sales during last five years as under.

JAGUAR (o7mpf) 508 5050000 9903 @b SRty e300, 958 50ne SRost
2 $¥NT083. : =

Year 2016 | 2017 | 2018 | 2019 | 2020
ésas“ | .
Sales (in crores) 150 200 | 250 200 350
| Rwoees . (ressndd) | |

Questions:

B/Fneo:

1) Define the demand forecasting.

' 2
IeRFOT> W00 0T, 5,859 AD.

2) Calculate the sales of JAGUAR Car Company for the next three years.(12)
B0OWTLT B [AFNY TR wWrws” T FOTICD S.Tat:a&&ﬁ&gt LSOO
SRGO. |

3) Should JAGUAR Car Company continue its business in future ? 01)
POREVY, ‘om0’ F0 TOTD IF B, WHITDR, B00TR[OTLTITE ?
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I Semester B.Com. 3 Degree Examination, March - 2022
ECONOMICS '
Business Economics - 1
' (Repeater)
Time : 3 Hours : : , : Maximum Marks : 80

Instruptions to Candidates:

1) All Sections are compulsory.
DY, NFNTLL T 030TONE. 7
2) All sub-sections should be solved continuously at one place.
| ooy, IEnente cu3tEm RIS 1o 8E WO, |
3) Draw diagrams wherever necessary.
 eRB IR, FeaouB YR, VAR,

SECTION - A
.ot - @

Answer any Ten of the following in 2 to 3 sentences each. (10%2=20)
NS Pewon BR JINR 2-3 TBNGY, YUBOD.

1. a)

b)

c)

d)

What is meant by Business Economics ?
=, BHo0T OGF IR, QOTBE 2

What is Demand ?

deod wodded 2

What is internal economics of scale ?
©0308 QOIT,0D HOTTE> ?

What are perishable goods 7

'SR BRTSOTSERd 2

Give the meaning of explicit cost.

‘w8 dzgdd' SPFBI), Teo.

[P.T.O.
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f) Qd = f(p) is the demand functions, identify the independent variable in it.
Qd = f{p) Hetdod WIDRTN, AGCYOD RZoF, Worssy mHOTIVD.

g) Define elasticity of demand.

TRRECH ASTTISFRD, T, 20, D0,
h) Give the meaning of cost control.

g, ooz, ees LPF TBewO.
1)  State the meaning of zero elasticity of supply.

2RF, 4SBT FPGFod WP Bewd.
j)  What is average revenue ?
| ROOAD BST0D D0RBER ?
k) Define opportunity cost.

RODE0T BYFY, 39,309, 000.
I) Calculate average cost, when

Roo%0 HPH, NS ©08-03Nven 97 SREO.

i)  Total units produced = 60

WA, CVIDORT FHEIBAD = 60
i) ~ Total cost = Rs.800
 we g, = 9e.800
SECTION - B
ogen - W

Answer any Three of the following questions.
BINTYNTY, CIRPYTTETR WeTE GVZ0R0.

Explain in brief fundamental concepts of busines economic.

=,e008 SEFIIRE SRoyng SOSRYRY, Re§TTIN DR
Explain the factors determining demand.

ﬁe@éoﬁoz&l JFFORET SOBNTRY, TOAD.

Explain expansion and contraction of demand.

W HdDE 0B BrONENT), DT[ORD.

(3x5=15)
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Discuss the modern factors of production.
- OGORE VT e,faafﬁvsb 33720,

Gwc the meaning of price elasticity of demand Calculate price elasticity of
demand from the following data.

3¢ geas ﬁ;émﬁéécs va‘raﬁab B0, 3 e Né"e)"‘isaz& TINS e208- eﬁosri@od
e%* To80.

Pl = Rs.20 ' . Q, = 15,000 units (e38N%L)
P, = Rs.25 ' Q, = 13,000 units (e33nisd)
SECTION - C
AT R ,
Answer any Two of the following question. - (2x15=30)

ISV, CARFTET SOR TFrert ezono.

Explain the Law of supply. What are the factors that determine supply ?

TPF oD oDEY, DFORD. TPRGBODT), IPFORS oBRvI) ?

Discuss the Law of variable proportions.

WBOATDE BORREE VODTBR), BIFRD.

Explain the types of elasticity of supply with diagram.

8@9@&@5 3@03363033 TPYIOL ASTTIIH B FIONYI) DRSORD. |

a) Give the meaning of TC, FC, AFC, VC, AVC, AC and MC.
Wi, AT, NOORD ATHY, OIS 3, 09RO WHUDLR 5w3, TTIRO

W o e ot B %

ﬁzgd BB 0233 daﬂJi# s BRR0.

b) Calculate FC, AFC, VC, AVC, AC and MC from the following data.

3N wog-Rosy Y FBcHO0D A0, 0RO ATH, WD g, FoAD
VOO @Y, I0oR0 Y, Ry wous SYnY SFRRR0.

Output (in units) 0 1 2 3 4 5 6 7
Wéudq (E;‘)‘é&ﬁﬁ'&?@ﬁ)'
Total -cost (in Rs.) |20 | 40 |80 | 110 | 140 | 200 | 260 |320
Lo (dR.vY)




36122/A220

11.

28 DBRRT : (FEOD T3)
) 3 @ C]
Read the case let and answer the questions below.
B B4R A8 DT HRT WO NS TFNOR G300,

Tata cOmpahy has registered its sales during last ﬁVe; years as under.

@

SECTION - D
o - @
Case let : (compulsory question)

1 |

(1x15=15)

LR BOTR0IN 3R W80 IRFNY BB, TR0 RNRRT HTT B3 FNI0IT.

Year 2017 2018 2019 2020 2021
A5 |

Sales (in crores) 220 260 300 280 310
Soou(deed.de.nvd)|

Questions :
BIND

a)

b)

Define demand forecasting.
. s ww@{omzsa méaij TeP. | ,
Calculate the sales of Tata Company for the next three years. -

| Bowth Beth SRFRVESH K0 SoTd0D RRILTIY LOTRD WRED.
Should the Tata Company continue its business in future ?
POF 3V, t0WH FoT I F,[TTHY, W00RBIRWETE ?
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I Semester B.Com. 4 (CBCS) Degree Examination March - 2022
Company Law And Administration

(Repeater/Regular)

Time : 3 Hours
Instructions to Candidates:

1) All Sections compulsory.

Maximum Marks : 80

2) Answer the questions with strict observation of internal choice.

SECTION - A

Answer any ten of the following.

1. a)

b)

d)

Define the term company.
gouod @,85 BRRD.

Expand (1) CRISIL (2) ICSI

DZOA WOOWD : 1) A.80°.800¢ . 0% . 808 ..

What is prospectus ?

20T BT 0T ?

What do you mean by Quorum ?
BRF, ToW0S 0TI ?

What is share capital ?

Red wWoBY OWTER 2

(10x2=20)

(2) &3035°.2.0%°.:903°.
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f) What is memorandum of association ?
Fomnod TN T, LT ?
g) - What is comi)any meeting ?
| B0 Xyl L0TBe ?
h) What do you mean by Chartered Companies ?
RRE BomR 20306 ? B
i) Define Company Sécreta;y.
BomR Fo0dFEdrodd 28 deRD.
‘ j) Who is Managing Director ?
| BZWs acseramocsd orbad: ?
k) State any two duties of Managing Du'ectorsr
= m 38 ABerBE0 oinde SOR BBFINVRY é@&
) What is preference share ?
TRIZE Bedd Q0TTERD ?

_ SECTION - B
Answer any three of the following. ' (3%5=15)

2. What are the types of global companies ?

INST FoTING 50Ny ?
3. Distinguish between public & private company.

25o%A BOTR B KWW FOTINY 533 Ry wI000.
4. What are different kinds of shares ?

Betond QOGP TyToTNGIRY ?
[P.T.O.
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10.

What is meant by Directors report ? What are its contents ?
QReFTEC [TO D0TBERD ? B w408 Lo3n RS 2
Who is promoter of company ? Explain the functions of promoters.

BoIR TWSFBS0TT oIRD 7 &[T TOFRTIY DTOA.

SECTION - C
Answer any Two of the following, (2x15=30)

What are the importance of memorandum of association ? Explain the clause in
memorandum of association.

DB TP Fo@pIrith 0dRY ? e FOONYR), VBORD.
Explain the classification of company on the basis of incorporation.
Spordod ¢ S0edI 0T INerBTHT wrj\ WIORD.
State the provisions of the companies act relating to the following :
FPNIYRER FowoHAT FOTING TV auoqﬁmﬁagl 894,
a) Disqualification of Directors
RGerdss wsErs |
b) Loans to Directors
QNTeFBBOR O
¢) ° Removal of Directors.
QTer I8 BricozBoNE
What are the requisities of a valid meeting ? Discuss in detail.

Bmows, ARoD SRRoBNTIRT) ? H@TmN 13LSFRD.
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11.

SECTION - D

Case Study (Compulsory) (1x15=15)

a)

b)

c)

Mr. Arun is Director of PQR Co. Ltd. on the day fixed for Board meeting
he has some other important work. He has requested his wife who is well

known Management Consultant to attend that meeting on his behalf comment.

8¢ 5309 PQR 80.9. d@erTFooN), s0omeod B3R ANOTRE DITOTD 330N
$0) B,J0D FORNDSI. W= I wdamh 88,0050 & XY TRTNL T 2;%
DT AOTMOTTINCD T[T T CTY aﬁoaﬁ:w%d

Vinod Co. Ltd. is sure enough of collecting its share capital without public
subscription. Can a public company collect capital privately ? Should the
company issue prospectus.

SRty B0 D0LIE MTFEF WorsHrwdE Qe BF Hed woEmTEE) Ao SR
OB, BTN, TOTFLEDT BOTICI0 S0BRNOIRN WORETVRNY, AOT, SRWBITD ?
50&:30333 (,X8X7) D[Ted T[S, Jecedexd.

Mr. Jay is presently director of 15 companies. There is an offer from 2
other companies to become Director. Can Mr. Jay accept this offer ?

be e BRI 15 FoTNY J3erTIOoNTRY. DT BIOINED BBT TR FOTANLOT
BMTIT. ¢ ¥ B TTRTIIY Neﬁbﬁo@m ?
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I Semester B.Com. (NON CBCS) Degree Exammatmn, March - 2022

Time : 3 Hours

SECRETARIAL PRACTICE
~ (Repeater)

Instructions to Candidates:

1) All Sections compulsory.
2, QIO 39 0d0NES. .

2) Answer all questions as per internal choice.
50308 S03NROMOEIN DY, TF NI, YDZOAD.

SECTION - A
o - ©

I. Answer any Ten of the following.
39AS 10 ZIReR CVIORD.

a)

b

c)

d)

Define Company Secretary.

BOTVOD FOODFTHF IR, W, AIARD. -
What is Chartered Company ?

23T TEB FoTR N0V ?

What is Memorandum of Association ?
30T VD T,SBoWTeS 2

What is Table 'A' ? )
dpeRy ‘@’ S0TTER 2 L
Who is Proxy 7 {

T30 Q0TS iR 2

Who is rthe promoter of a company ?
BoTRCD T,I3FBT0RS 03N ?

Maximum Marks : 80

(10x2=20)

[P.T.O.
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IL.

Who is the Director ?

g
SomRch AerEEtond iRt ?
h) What is the ngrum ?
Rdod> 3T, RBR,0 Koy, 0TS0 ?
What is class meeting ?
SR RN onded 7
j) Who is the proper authority to convene the meeting. ?
ROy, FOCINT SHFO AR ? |
k) Who is the Pro-tem Secretary ?
- Bo8R3FT B0FEEF R0TT aSRT ?
‘1) What is the speciél resolution ?
2T ReBITO D0TTERD ?
- SECTION - B
dpen -~ W
Answer any 3 of the following -questit.)ns. | | (3x5=15)
IWAT o "‘2371@?r§' SVZORD.
2. Explain the qualification and quahtle:. of Company Secretary
FoT03 mo&nrdéroﬁa 8BS TB) rbs'arwsa 30%0.
3. Distinguish between Public Company and Private Company.
TWDFERE 0T HoR ARA BOTING B IR I9R0.
4. Briefly explain the features of Joint Stock Company.
2RTd woBY ROJMY LTIV B9R0. |
5. Briefly explain the containts of Prospectus.
THowsoh TYF LIRROBIS eoBrTRy RosZTN QRO
6. Explain the Chairmans Power in the meeting.

RO SFIT SHEONYRY, HRORD.
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SECTION - C
ogen - ¢

III. Answer any two of the followings. : | (2x15=30)
NS Q0> IIZnert LZon.

IV.

7. Define shares and different kinds of shares. "

- BeoonvRy, 00,0 Jedond A0G I 3, 800MIRy, HFORD.

8. What is Annual “General Meetmg explam the Secretarial duties towards
AGM.
WORFT NWFROPOTED ,"dajodaa';gl DRARIN B XY KOWORATW FoCDFTEF OB
TIFTNIRY, DW[ORD.

9. Who is the Director of a Company and briefly explam the powers and duties
of Directors. - '
TOTRCD DTeFIITRY, 30,04 B0 BBFE, TB) LOTONYRY IF[OXD.

10. Draft the minutes of first Board of Directors Meeting.
BoBRCDH DBeFBEI0 BRBUSCDH RJod FODEBRTAG 2083 SOOI, WSO,

SECTION - D '
. oyen - @
Case Study Compulsory - . : (1x15=15)

@, ¥0e0 &g 0D 6:33053

II

a) XYZ Company has registered on 1-1-2022 and it received Business
- Commencement Certificate on 1-5-2022 but the Company made business

agreement on 1-4-2022 is it valid agreement.

XYZ () soumidedn 1-1-2022 domd Seommolores, Qaacﬁ 1- 5-2022 dod

InE0 WO BRRG [, ﬁdocms:ﬁ uwc! FoTIBW . Bwos
-4 2022 dom 37 T TIOWR W, ToWATT B FIHT LT 2

b) Mr. Prashant is workmg as a DII‘CCth‘ of 20 Compames of which 10
companies are Public Limited Comapnies, and he is agreed to work as

a Director of another Company. Can he do so explain validity.
®. FooITTD 10 MBFHJIT somANYRRFrieoE 20 Fomdny Qe3er 30N
ﬁacﬁarawr&owgw%ﬁ end an aﬁa&gom FOTIONY, AWer BTN

 WRER0RmT. B ket SRS ?
c) A]EfC Company having a paid-up shares capital of Rs.15 crores and it
has appointed Mr X' as its Company Secretary who is not the member

of ICSI explain the validity of appointment.

ABC gozidcdn de.15 Bretd wommednsy deedm) . X TS0, BOTIOD
FCIFBEFOTN Fedoad. . X' S ICSI B ATA, 0, 83 Sevododn
39, 03RS ?
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Reg. No.

I Semester B.Com. (CBCS)Degree Examination, April - 2022
Practicals on Skill Development “

‘(Repeaters/Regular)

Time : 2 Hours , ’ Maximum Marks : 40
Instructions to Candidates: |

1) Attempt questions according to intermal choice.
$0308 SONON YT, Y, JINPR YVSORD.

2) Draw diagrams for explanation wherever necessary.
N DT, TeamesE, sy LTedD.

SECTION - A
oRn - o
Answer any Five of the following. : (5%2=10)
39S Wemd § BINOR evgoR. |
1. a) - What is -Royélty ?
DOBRS/TIONFR Q0TTERD ?
b) What do you meaﬁ byInsﬁrance Policy ?
DRP TOOR 0TTERD 7 _
.c) Define Product Life Cyclé. |
BRIT BeDB LTHOD WFTW wif BewD.
d) Expand MOA and AOA.

MOA 02y AOA 2308 2080000.

. | N [P.T.O.
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é) State any two features of Business Laws.
- ord 0D AR YL TewD.
f) Define skill’.'v
PIGD méas Bewd.
g) What is Elasticity of Demand ?
ead RIWTEY, 0BT ?
| SECTION - B
QgRn -A W
Answer any Two of the following. ' (2x5+=10)
9N CinYTOTEe H0m DIAeR IR0 |
2. List out the rights and obligations of owners of the company.
FOTROR m@ﬁd T, TR WWEINT), Ted, WRAO.
3. Prepare the strength and weakness of any non-trading organisation.
Ineds myToed Rodah GSmE S tRRre, v, B0,
4. Prepare receipts and payments account using imaginary figures.
cinymEEe 00D - o3y T IOV TPORE 208 SOBRYOT JoAROR0.
5. Draw a graph of product life cycle.

SO 2eDT ©[O0H 85T SeanusP Ty VARO.
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SECTION - C
ogRn - ¥
Answer any Twe- of the following. | (2x10=20)
$9NS CIRYTTAR SO BIIR CUIOND.
6.  What are factors to be considered for location of a new firm..
BoR ,T00 ook Y eedine), JOREIRE LoBvoEY.
7. Draft a memorandum of association with all clauses.
FoTROD DD TZT D¢, WENERAR wSEWD.
8. Prepare an organisation structure and show the designations.
Redodo Tesodrly, FAROLO T THWRONTR), IRCO.
9. List the business organisations that are linked with marriage season. -

ahIdch xiaixadm.ﬁé RowoPAT J,TTO0NY Ted, INRD.
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I Semester B.Com. (CBCS) Degree Examination, March - 2022
FINANCIAL ACCOUNTING -1
(Regular)

Time : 3 Hours | Maximum Marks : 80
Instructions to Candidates:
1) Attempt all the Sections according to internal choice.

2) Use simple and non programmable calculator allowed.
3) Section-D ""Case Study' is compulsory.

SECTION - A
PN - o
Answer any Ten of the following. (10x2=20)

Wt TR JyINROR ¢USORD.
1. a. What do you mean by single-entry system ?
| 0% SR O IRIH GFFRI, Bewd.
b. Why the "Creditors Account" is to be prepared ?
“TBOTHTT 00BN’ D SoIRORRNIZT ?
c. Give two professional person.
R8¢ BRRFHT BYD [ IR TIORD.
d. What is cash system of accounting ?
[N THSoD SFIF, 0TI 2
e. -What is Farus accounting ?
B & 98 Q0300 ?
f. Name different kinds of farm transactions
B & B B[HIONY AT T,50NIR), V=00

[P.T.O.
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g What is Royalty ?

TGS 0TI ? |

- h. What entry do you pass for recovering the short workings ‘?
Coac 808 00 Tans Srerd DS w00,

i.  Give two examples for Notional transactions. 7
PORE [TEOY, AR CUHBORRIS TR0, | ..

j. - How do you decide minimum rent dunng strike pﬁyd ?.

BOFTE BSODE, BT, Ry Berk aﬁrﬁ 3
k- :What is insurance claim ? B -

2> Beo TECVRED F0TBTED 7 B

l.  What is salvage ?
BTV ORI FOETED ?

SECTION - B

YRR - W

Answer any Three of the following. ;;;,, - (3x5=15)
tﬁeﬁaw mhedh BIrer evgoR0. | q{

R. -
. 3,50,000 |
“ash sales 50,000 -
' Opeging debtors 50,000
Closing debtors 7 ' - 40,000
Bills Receivable received ' 1,00,000
Bills Receivable dishonoured 20,000
* Bad debts 5,000
Discount aflowed 15,000
Provision for doubtful debts = 10,000
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s NS FESCNOE AWOTRBOOR L0B INRO BEIRR, BOREBAD.

o[8 . - os.
Wil Swoos 3,50,000
Sncy RnRooks 50,000
=80 Aeoneddd ’ 50,000
083 TONRCD _ . 40,000
wdsﬁa oM zaodc% 1,00,000
STRORO 038, BoRNd 20,000
a"bs TOMNRTD 5,000
Reed zbescb 15,000
emabmms monen mmwd: 10,000

3. State five objectives of farm accounting.
By 200300 DT HUTEBNTRY, BewDd.

4. Dr. Kalyan Kumar a medical practitioner has supplied you the following transactions,
you are asked to prepare his income and expenditure account of profession for the
year ended 31-3-2020.

a) Medical fees received Rs.1,00,000 ,
b) Received interest on private investment Rs.5,000
c) Consultatlon fees Rs.12,500 |
- d) Car expenses Rs.3,000 (used for professwnal purpose only)
‘¢) Staff salary paid Rs.10,000 |
f) Food supplied to patients Rs.7,500 -
g) Electricity charges of clinic Rs.1,000
h) . Rent of clinic paid Rs.4,000 |
ol ife:basa BRRT, Fudead aﬁéo'b@ dpaENdRoRT), Jort 81 NI m&oéo:ba‘b
&adﬁnﬂ%m e sad a<§o:b csmorb By g, ‘;\Jaa"ocbagl O0% 31-3-2020 §
Do Bon BRSReWE0Z SodnoaD.
a) &3 g wonsy 8r.1,00,000

b) 3R BRGRed ed wa wontd 8r.5,000
[P.T.O.
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-
d)
€)
f

| lg) :
h)

YR

SowoBr (Romsrs) o, €e.12,500
w0 i, 803,000 (0 FIod evadesTn wEAR)
22000 Rows 383 8.10,000
FA) [X 3~
dmenﬁ@ﬁ F0 "'aequﬁ mad% dn.7,500
$55 Oc, B3, 8e.1,000
$p5 oAl oum) 6n4,000

5. The Coal Company leased a mine on a royalty of 50 paise per tonne of coal raised
with a minimum rent of Rs.1,000; The right to recover the short workings of earlier

years

is out of the excess royalties durmg the first three years only The quantities

raised were.

Year

2017
2018
2019
2020

Tonnes raised
800
1000

6000
8000

Prepare royalty payable chart.

BRe®

BOTDOIEIA  Medoddm) ac'.',rara‘@odo K)@aﬁod)ﬁa TROTY) W3 B IQWeE

Beo3RBT B 50 JFAn caw;ias B8R 3T0N wéww o) dmr TR, B 503

ow.1
Gl ind

000 B0 RN, DoRsd 300D SeTioscDh Haedd aﬁws'm?e‘;_ et
TR0 (TGD0T) RO a3 sszo S0 DTN,

OQoR) BROINE HBC B0,

SR
2017
201 8
2019
2020
e

BIRYE,
800
1000
6000
8000
883, RSO0 T2, IOy SOIRORD.
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'6.‘ On 24-12-2020 a fire broke out in the Premises of a trader and destroyed most of
the stock. The following information is available.

~ Stock on 01-01-2020 Rs.15,000
Purchases from 01-01-2020 to 24-01-2020 Rs.67,500 ;
Sales from 01-01-2020 to 24-01-2020 Rs.93,750
It was further stated that the trader, in fixing the selling price has added 25% on the
cost of goods. Salvage valued at Rs.500. Prepare a statement of the fire claims.
2l aasasab’od) sonBod R OI0T 24-12-2020 Towo ) SIS eﬁﬂd)§63. BN
DO, TIMIOND &) SBAW0T TIVRYRPOE.
Bnkd: TomRIT IR, Dmvo¥ 01-01-2020 dra.lS,OOO-
ogone Doed 01-01-2020 dog 24-01-2020 J=RBR o, 67,500
DR INBT TRNW 01-01-2020 80z 24-01-2020 OIS 82.93,750
DT [RONY (a’nraoaﬂd &ed) Doeds éeﬁzsa 25% enyoos "‘cSodw:-saé RoT$R
m'?ioai SR, de. 500
Boe0T WLE000T BN DHAVE BT TIOD TEIODTY FoIROAD.
SECTION - C
ogen - @
Answer any Two of the followings.
WeTs SUBE GUZ0RD. |

7. From the followmg trial balance of a farmer prepare the Trading and Profit and Loss
account for the year ending 31-03-2021 and the Balance Sheet as on that date.

(2x15=30)

Debit Balance “Rs. Rs. | Credit Balance ~ Rs. Rs.
Opening Stock : , Sales :
Cattle | 1,20,000 Dairy products 72,000

Cattle feed 8,000 Paddy 1,30,000
Paddy - 60,000 Cattle 30,000 | 2,32,000
Fertilisers~ 17,200 | 2,05,200 | Creditors ‘ 29,800
Purchases : ] * |Loan from bank
Cattle 24,000 at 8% 48,000
Caitle feed . 12,800 Capital 3,80,000
Sceds 2,600
Fertilisers 4,800 44200 ¢

[PTO. -
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Debit Balance Rs. Rs. |Credit Balance Rs.
Crép Expenses : , |
Labour - | 15,600
Other direct Exp. | 1,600 | 17,200
Cattle Expeﬁseé | |
Medicines 3,600
Labour - 4,400 |
Dairy expenses 12,000 | 20,000
General expenses 3,200
Land | 2,80,000
Tractor 92,000
Cash 28,000

16,89,800 | 6,89,800
Adjustments |
a) Closing stock:
Cattle 1,32,000
Paddy 9,200
Cattle feed 3,200 |
. Fertilisers | 1,200 " 1,45,600

b) The proprietor has consumed the following items out of farm output

Dairy products
Paddy

8,000
4.000

12,000

c¢) Provide depreciation at 10% on tractor.

o d) Interest on loan is outstanding for one year.
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BN o9, THE) IO TRBINE0T YI O Y L-TD WD) BT
31-03-2021 3 ﬁ:aéﬁ:w%ﬁoa“ 30308 B Wl DVOFEOTD BEFess wt%,z?orbagl 303720%0.

uoF ey de. Tn. | wHR ée::::a on. gn.
00wT TmRRAR: | * FRook: ,
i 20000 |° ded euIRR 72,000
Teb wEs 8,000 | [1,30,000
e 60,000 | e 30,000 {2,32,000
Ros 17200 [2,05,200 | mzomocd | 29,800
gm | ' | 2, 0800T3 moﬁdﬁz&%
| 24,000 moars 308 603 48,000
S - x00 12,800 2ORETY . 3,80,000
Lesrd 2,600 ' '
Reod 4,800 |- 44,200
B3¢ abrnsd
) 15600 |
930 60 DN 1.600 17,200
BEne_swor S
| B o 3,600
oo 4,400 |
B0 Dubr 12,000 | 20,000
TOTIT, SNBFTID 3,200
o 2,80,000
i, 30 92,000
BELCY 28,000
L 6,89,800 6,89,800
BRoTEIENE: |
a) ©033 moKRONT: dn. ge.
TR 1,32,000
%33 9,200
| Tg s@mo 3,200
Rewg 1,200 1,45,600
| [P.T.O.
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b) [ROIH (33) BT wedmn wuRgeen FRET HFT
Bed ev3zn 8,000 _
g - 4,000 12,000
c) 30 et Jevd 10 O, IO EROOR.
d)  Wos Boed% W wom IR wscs (oRt36433).

Dharwad Colliery Co. Ltd. leased a mine on a royalty of 50 paise per tonne of coal
raised with minimum rent of Rs.10,000 per annum. Each year's excess of minimum
rent over royalty is recoverable out of the royalties of the next three years. In the
event of strike and the minimum rent is not reached the lease provided that the actual
royalty earned for the year discharged all the rental obligations for that year The
results of the working was as under.

“Year - Output in tonnes
1985 15000
1986 7 .' 21,000
1987 (strike) - 12,000
1988 _ : | 16,000
1989 o 22,000

Prepare (1) Royalty A/c (2) Shortworking & (3) Landlord A/c in the books of
Dharwad Colliery Co. Ltd. along with royalty payable chart. |

o008 9900 FOTROID DETFIFRD nsdroddoda) rhant o T8 BT 33O
cmsfo w0z 50 FRobd) Be@xs sooon LTS, m m&aﬁ eosa d».10,000 wa
ase.as'ﬂ i.tacsweéoz:i e'oz:rofocnncs T3 IR z:b@ai) ﬁrada"o:bm BT, RN Bes),
mar@d TORITO, B0OOST SRS T SHFR wen aaobcsa BoshE T 50w:’~)ﬁ
ReBNGS. a.oda Re? T0e0 T8 O3B ITFOQ, BT, WORNCID TOBIRR), LVSHORT
2e3E FOTRNA BT RN KOS FoTROLEY, HRVIRATRTT. FoTN0DH FoR

BRBT HRTB POHI0B B8 FPNT0ST.




IEEEENAn ®
S=F TONT BOTOD (BTIVY)
1985 - ~ 15,000
1986 21,000
1987 (0708 IF) 12,000
1988 16,000
1989 22,000

U36121/A210

DOmE 500 0TI YIITY, TowE, AR CINOCDLRY eIk 8 B8 NS
sdabty AEee0. (1) TouR, and (2) was 808 w8 (3) §e SRdIS WE.

From the following Trail Balance of M/s Satish and Nitish solicitors. Prepare the

income and expenditure A/c for the year ending 31-12-2020.

Trial Balance as on 31-12-2020

Name of Accounts Dr. Rs. Cr. Rs.

Capital and Drawings '
Satish 36,000 20,000
Nitish 36,000 12,000
Profit costs - 2,48,000
Salaries 48,000 -
Rent, Rates and Taxes 16,000 --
Printing and stationery 12,000 --
| Library 24,000 --
Travelli_ng and conveyance 8,000 -
Provision for unrealesed profit -- 60,000
Clients disbursement 28,000 g
Clients control account 60,000 --
Furniture 8,000 -
Clients deposits -- 36,000
Office bank 60,000 -
Clients bank 36,000 --

Cash in hand 4,000
3,76,000 3,76,000

' [PTO.
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Other Informations:
a) Outstanding salary and prmtmg charges were Rs.8,000 and Rs.4,000 ReSpectlvely

b) Office expenses of Rs.2,000 were deblted to clients disbursements account by
mistake. +

¢) Work-in-progress as on 31'—12-2020 amounted to Rs.12,000
d) Provide depreciation at 10% on furniture and 20% on librafy.
85 31T ERLITHT ¢ Te3odn DIl 8D I VI T, CHTOMED LTI BT, Ty -

e mwmm pfes fira&scb 58 3B0000T @moﬁ 31-12-2020 § mémm@
- emooh D dzs 2508 maa esz;sad 8, 3oy 3adn03.

3% adESQ'b O30 OF08 31-12-2020 § akod

- [a03n9 @7 DF OR. | mIN d.r; ”
LOETY T3 FOTRN WD) ‘

| Reez® , 36,000 20,000
| 2ee 36,000 12,000
oo Supe | ~ | 248,000
| Rorw gots 1 8000 | -
| mar oo == Sorn 16,000 -
| oz B femsd |- 12,000 | -
1, ook 124,000 | -
| Yy wes wak 8,000 -
ITPOIMT ST QRN - 60,000
o000 D30 " 28,000 |
FBTOT Qo0 A 60,000 | --
QEBRETITED - 8,000 -
B4m00 Seattd . 36,000
36D wm,08° boy 60,000 -
ﬁimdd W05 de 36,000 --
$cHOR Frid 4,000 | -
| 376000 | - 3,76,000
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- 333 BSN:
a) SWFOFTY Toew ot LvPnd T0e.8,000 I Fogm HW¥E wod wvnm)

024,000 2303, (Bemdmnn) amgd). .
b) Beded g, 50.2,000 [y SN FOS DITE IR AedF WHTY.

©) TRechQmom fox Omeos 31-12-2020 3 TR.12,000 @RI
d) acdremscny 063 ez 10 o3 mm R0 HI x3ne et Besmo 20

vod X389 3r0dA.

Fire occured in the business permises of a trader on 1-7-2021 and the entire stock
was destroyed. However the books and records were saved and the followmg
information was obtained :

Rs.

Stock on 31-12-2019 © 35,000

Stock on 31-12-2020 40,000

Purchases for the year ending 31-12-2020 80,000
Sales for the year ending 31-12-2020 1,00,000 -

- Purchases from 1-1-2021 to 30-06-2021. 37,000

Sales from 1-1-2021 to 30-06-2021 60,000

Prepare the statement of fire claims to be presented to the Insurance Company.

o, @OXS wonart Qmoos 1-7-2021 Somd tﬂﬂﬁ BEOSIRN RIS YE. m}a
FORRTONEL (FoBON) 30800, Kot w%a“ﬁd e:scﬂd Silyizlevviu]ag @ﬁ#ﬁ%‘b mm
Tos0SnsL ROTEZTON GUPO3. e@ﬁ@ocs 33 SRSy Ror, So,.acmﬁciv w@mﬂ smd é»z

. BPNT0833.
dn.
Aogony momad Om08 31-12-2019% 35,000
. AoBnY moms> 0008 31-12-2020 @ 40,000
om0 31-12- 20208 gesreomEod a)aemm 80,000
Bc008 31-12- zozosa 3031R0E03 BRok3 1,00,000
Om008 1-1-2021 00w Q=008 30-06-2021333R
20O, 37,000
D008 1- 1 -2021 dow Qo3 30-06- 2021666%
RT3 60,000

D BoTIN T TAWR T 2jo8 WPBBOT 4T TOTT BB, BECRRW

[PTO.
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11.

SECTION - D
wpgen - & .
Case Study (compulsory) - ' - . ' (1x15=15)
T80 O oD ( (B 0D): ' '
Hindustan Colllery Ltd issued a land from Mr.Kamat at a royalty 25 palse per tonne
of coal raised. Minimum rent was fixed Rs.24,000 per year. The coal ralsed in the
first four years was as under:

Year Output in tonnes
2006-07 o 40,000
2007-08 - 1,00,000
2008-09 _ 80,000
2009-10 1,20,000

Prepare short workings a/c for four years along with royalty payable chart under the
following circumstance.

Situation 1.  The short-workings to be recovered during the first four year only.
Situation 2. The short-workings to. be recovered during the two years unmedlately
following the year of short-workings.

Give your comments on the treatment of short-workings of above situations wh1ch

situation is beneficial to Hindustan Colliery Ltd.

%0BATS Rem0E BOBRCID QOFT* T TO0T RAOCDRY, DeFr SRR3R

oan csacb T8 W 6@55@& aé.rad gncs =8 éSZDﬁ 25 d:&‘a'bab oau,u BRWED
&md 38 ae.arﬁ %e'og% woln woo dr.24, 000 dRO wm@aﬁd d@do JoeR a‘mrrtemdﬁ
wmm &HRT 3ﬁc$ DRV B N0,

Cu , NBTI LI NTY,
2006-07 40,000
2007-08 1,00,000
2008-09 ' © 80,000
2009-10 1,20,000

BT HFTHWOT ToEF I WD BRCI0PH TRy, W) DRF FodaD
aaaéobab 3t TSNS ~oc3wrrte§© 3O RSFA méo oxm Rosye 0TS
nedmodd 50waﬁ SRIBROICTNG aomdm 903,
Romyde 1 oahod &adéo:babq eﬂrad@w T, VRFNYY, 30T T30 T
3. \
el

CROTPE 2 ©oRRd §0303R) @m BWE SRS 2B womd DRENYS), oY
cl el w o ®

TR0 TR, BRLIT.




